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Time: 50 Minutes
Calculators are NOT permitted.

Instructions:

1. DO NOT OPEN THIS QUESTION BOOKLET UNTIL YOU ARE
TOLD TO DO SO.

2. If the information printed on your answer sheet is not correct, please
inform the invigilator immediately.

3. Please use a pencil and write your answers neatly ONLY on the
answer sheet provided. DO NOT write or draw in the circle next to
each answer box. No mark will be given if you failed to follow this
instruction.

4. Unless otherwise specified, all answers must be in exact value and in
its simplest form. Writing the units for the answers is NOT necessary.

5. Rough-work sheets provided will be collected at the end of the contest
but they will not be marked.

6. Diagrams in this question booklet are not necessarily drawn to scale.
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For question 1 to 10, the answers must be expressed in integer or decimal.

B3 1 2 10/ » BERUWVEDBBBVNEFRT

1) 1.627-0.95=7 [1%]
2) 65.82-169="7 [1%]
3) 182x24=2? [1%]
4) 9+045=7 [1%]
5) 52.8+5=7? [1%]
6) 12.8+0.001="? [1%]
7)  63.8x5%="7? [1%]
8) 138+ 15% =? [1%]
9) 24x25+30%="? [1%]
10) 333-90+30% = ? [1%]
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For question 11 to 15, the answers must be expressed in proper fraction,

integer or mixed number.

B3 11 2 1578 - FRMEMUETE - BEEIHFIBRS -

11)

1. cnose 3
Evaluate 37 50 /on.

xrer L.paopy3 o
= 7E,_§.50/0><4

[1%]

12)

Evaluate 2+18%><3.

L 2+18%><3 '

[1%]

13)

21

Evaluate 7+5=x20%.

30

8= 7+%x20% .

[1%]
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14)  Evaluate L (4><5%J

[1%]
20°
_\:-“ = 1 - 4 0 o
e 55" [§><5 /OJ
3 L1l [1%]
15) Evaluate 1000 (8.2/0] 5.

2

3 o) & .
515 7000 (8 /"] 0
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16) Given ~A=30° B =x° where ~A+ ~B=180° Classify /B [2%]
according to its size.

EHl2A=30° «B=x"> H.-A+ ~B=180° /B EEREE?

A. Acute Angle 779 B. Right Angle B
C. Obtuse Angle #iifg D. Straight Angle S~
E. Reflex Angle 74 F. Round Angle f&E74

17)  Out of 200 balls, 38 are blue, 30 are red and the rest are black. If [2.1%]
the difference between red balls and black balls is y% of all balls,
find the value of y.

£ 200 {EER T - 38 {EEEE L > 30 {EZ4LE - f NHYZRE -
AL EEREL R ERE H 2 (5 2 EERET y% - Ky RY(E -
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18)  Which is the smallest number among the numbers below? [2.2%]

NEIEE > BUEER NVECE T ?

3 4
A g0 B. 2% C. 0.062
D. 8.3% E. 6_14 E. 17.3%

19)  Mandy folds a circular craft paper in half for 6 times, what isthe ~ [2.3%]
size of the angle of a sector in degree/degrees?

(A —REPHY T ARS8 6 ik - — (R ELAEITR

INEZ/DIE?
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20) Mum’s daily salary decreases from $625 to $450, which is [2.4%]
equivalent to an x% decrease. Find the value of x.

AEUERY H #H7 R $625 T2 $450 - BIE/D T x% o K x AY{E -

21)  In abookstore, an English novel costs $82.20. An English novel is ~ [2.5%]
$8.90 more expensive than a Chinese novel. If Mum has $235, and
she buys as many Chinese novels as she can, how much does she

have left?

—RIE BTSN $82.2 0 BLSUNREEF S/ NR E5$8.9 -
RLEAEA $235 - WFAIRESHE NP SUNGRTR 0 BER N
It ?
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22)

The following is the travel graph of Jack and Nick walking from

[2.6%]

the snack shop to the school. The library is 600 m away from the
snack shop and the school is 1200 m away from the snack shop.
Given that Jack and Nick stayed in the library for some time before
reaching school. Find the difference in km/h between the average
walking speeds of Jack and Nick from 08:30 to 08:45.

PUN 2/ NEPA MR R/ NE B AE 2 YT TREE] © /)N BB R

FHEE 600 0K - 1/ NE EREEEESEA 1200 0K o ELRIZNEEATZNMEE]
EEEREH 7 — BAE - UL/ NN AH
08:30 % 08:45 HARIHYFITRE 7 -

School
B 1200
1000
E~ 800
bt ﬁj Library 600
§ gy 16
3% 400
200
Snack shop
/INEHE

The travel graph of two students

Wiz F AT AE

Jack /]NEF 1

1 Nick /&

/

07:00 07:15 07:30 07:45 08:00 08:15 08:30 08:45 09:00
Time

FRF ]
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23)  Find the area of a semi-circle in cm? if its perimeter is [2.7%]
257 cm. (Take was 3.14.)

EFEIRYESUE 257 ecm - ZAERTERZE S /D cm? ?
(H{mFy3.14 )

24) A cuboid tank contains some water. The teacher pumps 25 cm3of ~ [2.8%]
water out of the tank, then puts 3 tiny stones of the same volume
into the tank such that the stones are completely submerged in the
water without leaking. If the base area of the tank is 40 cm?, and the
overall increase in water level is 8 cm, find the volume of a tiny
stone in cmd.

—(ERFEAESRNALK - ZALHE 25 cm’ #y7K » FHit=
VREEREAHEIRY NATEBOE RSN o B/ NAEEERIRIKN > B
RH R - HRIEEESE 40 cm? . HEROKA BAT

8 cm » —IR/INEIEHVESRE S/ DIT T EK ?
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25)  The heights of Ada, Ben, Calvin, Dan and Edwin are 147.8 cm, [2.9%]
164.3 cm, 157.7 cm, 151.8 cm and 178.4 cm respectively. Two
people joined the team, and the average height of the team is
increased by 4.8%. What is the sum of heights of the two newly
joined people in m?

H -~ 2~ -~ THRIXK B S5 R0E 147.8 cm ~ 164.3 cm ~
157.7cm ~ 151.8 cm #1 178.4 cm - A 2 AJIAGL4H » (H3Z4AHY
S B EEINT 4.8% o AR 2 A B EERIEZS/ oK ?

26)  The following shape is formed by a right-angled triangle OAC, a [3%]
circle and a straight line ODB, where O is the centre of the circle.
Given OB =14 cmand ~BOC = 45", Find the area of the shaded
22
=)
LU RYEIZH—(EE A=A OAC » —{HERM—{FKE 4R ODB
éﬁ_}ﬂz ’ ;H\:EF‘ O%/D s EX10OB=14cm - H ~BOC=45"-

k252304 BOD RS %/ com?2? (Bl 22 <)

region BCD in cm?. (Take & as

7

A

45°




27)
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The following shape is formed by some quarter-circles. The [3.1%]

perimeter of the shape is 56% cm. Terry plans to paint the whole

shape with acrylics. If each cm? of acrylic paint costs $0.25, find
the cost of painting the whole shape in dollars. (Take & as %.)
DR B ey — B4R TS BRI SR 565 [
ok o AINETHEIEE R ANE IR - FHRHEA 1 om? /Y28
BRRCA Sy $0.25 - 1H FEEETE 2/ DT ?

(Bt 2 )
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a5@x+7y_ [3.2%]

28)  Solve the equation % :

O.5(3X+7) 1

= o

e — 61

29)  Dad mixed together some green tea, milk and water to make acup ~ [3-3%]
of milk tea. The amount of milk is half of the amount of green tea,

and the amount of water is % of the amount of milk. If x% of the

amount of milk tea is water, find the value of x.
aailtir - FUHVKEERADEER - BRI =Sk
K —2F ~ Ky &40 % o /KNSRI D =0

X% > K XHYH -
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30) If the value of a two-digit number is 8 times the sum of its digits, [3.4%]
find that number.

L AL B BB R B B 2 AORY 8 & - SR -

31) Terry left his wallet in a shop after shopping. After 10 minutes, the ~ [4%]
shopkeeper found his wallet, and tried to chase him back by
following the exact route Terry had taken. Terry walked 480 m in
10 minutes, and he kept walking with the same speed. If the
shopkeeper spent 5 minutes to chase Terry back, find the average
running speed of the shopkeeper in m/min.

IMEFEH R EEY)RE T EREL - 10 77 #El% - J5E B #I TAYER
& WALZEE /IMEE BARESRIB[E]/NME © JMELE 10 778

EE T 480 0K - W DAMH[EIZD ZRAEET THE - WIRIE BRARIE T 5
sr#EiEnl/ME - JEBRITHIP R E 2 oK AR 7
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32) The ages of Henry, Tina and Susan are three consecutive even [4.1%]

numbers. Find the sum of their ages if the product of the three
numbers is 10560.

H~ ZFIA RIS = (B - 5 = ABEIE
10560 > KA A -

33) The product of %:785 and 4000% is a recurring decimal. Find the [4.2%]

difference between the digit in the ten thousandths place and the
266" digit after the decimal point.

08 1 4000% Fy 82— (EIESR/ NG » SRS R MR 5

266 {E LAV TF 7=
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34) If6x—+_ _1-2 find 1 | [4.3%]

1 176 5

o+ 1 9+—4

1 bt o

1+= 1+ <

1 n

Y
B o 1=k —Lg
St—=1 9+ 7
3+71 4+ 5

1+= 1+

4 n

4

35) There are 10 light bulbs, namely 1, 2, 4, 8, ---, 512. Anumber can  [4.4%]
be represented by turning on the bulbs. For example, 13 can be
represented by turning on the bulbs 1, 4 and 8. If bulb 16 is broken,
how many 3-digit numbers can be represented by the remaining
bulbs?

A 10 (a0 - SERERF 1248~ -~ 512 - —{fl#
Fr] LS ARER o il 13 if LIRS R 1~ 4 F 8 AYJE
AR » AR 16 HUKEIHEE » 6) NAVESE AT DLAEREY
=fuBE %/ ?
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36) N is a 3-digit number. When N is divided by 4 or 7, the remainder is [4.5%]
1. How many possible values of N are there if N is not a multiple of
5?7

N2 —(E =78 - & NFPREL A7 H > BREENE 1 - AR NA
& SHIERE > NF 2/ EATREE ?

37) Given a % b = {the remainder of b + a}. Find the value of [4.6%]
O % 2+99 % 4+99% 6+ ---+99 % 1000 + 99 % 1002.

EXlaxb={b+afyer} -
5K 99 % 2+ 99 k 4 +99 % 6+ -+ + 99 % 1000 + 99 * 1002

HE -
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38)  Previously, a job takes 7.5 days to complete if Ada, Betty and Clare [4.7%]
work together. When Ada and Clare work together, it takes 15 days.
When Betty and Clare work together, it takes 12 days.
Now, Ada, Betty and Clare are working alone one after another for
8 days, 4 days and 1 day respectively, then all three of them work
together to finish the job. But Betty is now being lazy and her
efficiency is halved, where the efficiency of Ada and Clare remains
unchanged. All of them work for 8 hours per day. How many hours
are needed to complete the entire job?

—ITfE > B~ 4~ A= ASTESERER 7.5 K - HRINGIESE
PEFS 15K » ZAIN GRS 12K -

AR ~ ZNRIRRPEBITIFE 8K ~ 4 KM 1K > 8 N LAE
= ANETESERK - 18 - LBAE TR - LAY TAERCR
F o MHEM AR LAERCRIAUNE » B ANBH TIE 8 /NEf
HFZ DN 5ERGZ TAF 7
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39)

David takes his brother’s phone secretly, and he is guessing the [4.8%]
password of the phone. He knows the password is a 5-digit number,

in which no two digits are the same. After 9 failing attempts, he

finally makes a correct guess in the 10" attempt. It turns out the

password is an even number. He realizes he got 2 of the correct

digits but not in their correct places in every previous 9 attempts.

What is the password? (Write the digits in the correct order.)

ANl T SRR o HIEE S R - (R
R —{E 5 [ HBeEE - 408 9 ITERE -
PMES 10 TR - /NI FIR A TE R - TLAE 9 K
SIS T 2 (B8 - BRIEERY - ST
WRE%/D? (GHIERFEE - )

1t attempt Z5—2x : 02164
nd s — oy

2" attempt 25 2K 56280 a

3rd attempt %E:jf_\, : 80635 Entﬁﬁaﬁﬁord
0O 00O0O0

4™ attempt FEPVUZK - 68307

5t attempt LK - 71026

6™ attempt =5/ - 27563

7" attempt Z5+2¢ : 16052

8th attempt %5 /\ X : 63041

oth attempt 5 112X : 32867
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40)  Find the value of the following expression. [4.9%]
KEL TN HIE -

10302 4 10302 +10302 N 10302 - 10302 + 10302
1241 124+3x1+2 2242 224+3x2+2 1002 +100 1002 +3x100+2

End of paper
Etge
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ANSWER ANSWER ANSWER ANSWER
O
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3 ol 2 ® | e e
O
§ 2 48.92 o |2 57 o 220.8 (km/h) o |2 66 5
O
O 3925
S : 4368 | |1 2 o | *(squnits)| o | J O
[e]
) 1 1
3 20 ol|* 12 o |*115(em’) 4 |* 70 o
S 3
s 10.56 15 4 253.7376 (m) 35 452
o° o 5 o | o o
]

C 2

8 6 12800 5 16 o 2628 (Cm”) o 36 26 o
[e)
§7 319 | | 51 o |7($)4158 |  [s724297 |
O
O 14
8 8 020 o 18 A o st o 38 140 (hrs) o
9 13
8 9 200 o | 5.625 5 2911ﬁ o |® 45718 5
O
§1o 33 ol 28 5 3072 o % 15250 o
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